				(				
			E INFRASP					
	NEPTUNE	CAMPUS, NEAR ATLANTIS HEIGH				A.GUJARAT-390007		
		-	50630 39 Website www			· · · · · · · · · · · · · · · · · · ·		
			WORK OR	DER				
wo	No.	10		SHIP	• то:			
wo	Date:	25/05/2021		NEP	TUNE INFRASPACE PV	Г. LTD.		
Con	tractor Name	SHREYPATH INFRASTRU	ICTURE	GRE	ENWOODS AARANYA			
Add	ress:	<b>PVT LTD</b> 314, ARISTRO, OPP SANGHAN	II- SKYZ, NR	Gree	enwoods Aaranya, B/S (	Greenwoods		
		PRIYA CINEMA, BHAYLLI, VAD	ODARA	Aspi	re, Neptune Campus, D	or Vikram Sarabhai		
6	to at Na				g, Subhanpura, Vadoda Titla	ra, Gujarat 390007		
_	tact No			wu	Title			
PAN								
GST	:			GST	No: 24AADCN1428	R1Z7 Gujarat		
		lacing with you our Work order	for the following cor	ntract kind	ly execute the work			
as p	per the instruction	given by our site incharge.		_			_	
Sr.No		Item Description	Qty	Unit	Rate Rs.	Amount	GST %	6
1		ENT RCC WORK FOR SLAB						
	LABOR FOR RCC		32,633.1	18 SQFT	133.00	4340212.66	18	%
2					57.00		4.0	0/
		ERNAL PLASTER (SQFT)	32,633.1	18 SQFT	57.00	1860091.14	18	%
3	SLAB	ND FLOOR RCC WORK FOR						
	LABOR FOR RCC	SLAB (SQFT)	11,072.5	52 SQFT	104.50	1157078.34	18	%
4	TOWER A GROUP	ND FLOOR RCC WORK FOR						
	SLAB					(000.00		
			1.00	NOS	4000.00	4000.00	18	%
5	SLAB	ND FLOOR RCC WORK FOR						
	LABOR FOR RCC	SLAB (SQFT)	552.26	SQFT	104.50	57711.17	18	%
6	TOWER A GROUP	ND FLOOR MASONRY WORK						
	LABOR FOR MAS	SONRY WORK (SQFT)	552.26	SQFT	28.50	15739.41	18	%
7	TOWER A GROUP	ND FLOOR MASONRY WORK						
	LABOR FOR MAS	SONRY WORK (SQFT)	11,072.5	52 SQFT	28.50	315566.82	18	%
8	TOWER A GROUP	ND FLOOR PLASTER WORK						
	LABOR FOR INT	ERNAL PLASTER (SQFT)	11,072.5	52 SQFT	28.50	315566.82	18	%
9	TOWER A GROUN	ND FLOOR PLASTER WORK						
	LABOR FOR EXT	ERNAL PLASTER (SQFT)	11,072.5	52 SQFT	28.50	315566.82	18	%
10	TOWER A GROUN	ND FLOOR PLASTER WORK						
	LABOR FOR INT	ERNAL PLASTER (SQFT)	552.26	SQFT	28.50	15739.41	18	%
11	TOWER A GROUN	ND FLOOR PLASTER WORK						
		ERNAL PLASTER (SQFT)	552.26	SQFT	28.50	15739.41	18	%
12		ND FLOOR PLASTER WORK						
4.2			1.00	NOS	1600.00	1600.00	18	%
13			101 40	COFT	104 50	10070 77	10	0/
14	LABOR FOR RCC		191.19	SQFT	104.50	19979.77	18	%
14	LABOR FOR SLE	OOR RCC WORK FOR SLAB	1.00	NOS	4000.00	4000.00	18	%
	LADOR I UR JLE		1.00	CON	+000.00	4000.00	10	/0
1								

	have pleasare in placing with you out work order for a per the instruction given by our site incharge.		,				
15	TOWER A 1ST FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
16	TOWER A 1ST FLOOR MASONRY WORK		-				
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
17	TOWER A 1ST FLOOR MASONRY WORK	-,					
	LABOR FOR MASONRY WORK (SQFT)	191.19	SQFT	28.50	5449.03	18	%
18	TOWER A 1ST FLOOR PLASTER WORK			-			
_	LABOR FOR INTERNAL PLASTER (SQFT)	191.19	SQFT	28,50	5449.03	18	%
19	TOWER A 1ST FLOOR PLASTER WORK						,.
	LABOR FOR EXTERNAL PLASTER (SQFT)	191.19	SQFT	28,50	5449.03	18	%
20	TOWER A 1ST FLOOR PLASTER WORK			2000	0		,,,
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
21	TOWER A 1ST FLOOR PLASTER WORK	1.00			1000.00		70
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
22	TOWER A 1ST FLOOR PLASTER WORK	0,710.17		20.30	240240.42	10	70
	LABOR FOR INTERNAL PLASTER WORK	8,710.19	SQFT	28.50	248240.42	18	%
23	TOWER A 2ND FLOOR RCC WORK FOR SLAB	0,710.17	ي ايک د	20,50	270270,42	10	/0
25	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
24	TOWER A 2ND FLOOR RCC WORK FOR SLAB	0,710.19	JULI	104.50	910214.00	10	/0
24		1.00	NOS	4000.00	4000.00	18	0/
25		1.00	NUS	4000.00	4000.00	10	%
25		9 710 10	SQFT	28,50	248240.42	10	0/
26		8,710.19	JULI	28.50	240240.42	18	%
20	TOWER A 2ND FLOOR PLASTER WORK	9 710 10	COFT	28 50	248240 42	40	0/
27		8,710.19	SQFT	28.50	248240.42	18	%
27		9 710 10	COFT	28 50	248240 42	4.0	0/
20	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
28		1.00	NOC	1/00 00	1(00.00	4.0	0/
20		1.00	NOS	1600.00	1600.00	18	%
29		4.00	100	(000.00	4000.00	4.0	0/
20		1.00	NOS	4000.00	4000.00	18	%
30	TOWER A 3RD FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
31	TOWER A 3RD FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
32	TOWER A 3RD FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
33	TOWER A 3RD FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
34	TOWER A 3RD FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
35	TOWER A 4TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
36	TOWER A 4TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
37	TOWER A 4TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
38	TOWER A 4TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
						2 of 23	

	per the instruction given by our site incharge.	the rottowing condi-					
39	TOWER A 4TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28,50	248240.42	18	%
40	TOWER A 4TH FLOOR PLASTER WORK	,	-				
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
41	TOWER A 5TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
42	TOWER A 5TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
43	TOWER A 5TH FLOOR MASONRY WORK	,	-				
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28,50	248240.42	18	%
44	TOWER A 5TH FLOOR PLASTER WORK	-,		-			
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28,50	248240.42	18	%
45	TOWER A 5TH FLOOR PLASTER WORK	-,		-			
	LABOR FOR INTERNAL PLASTER (SOFT)	8,710.19	SQFT	28,50	248240.42	18	%
46	TOWER A 5TH FLOOR PLASTER WORK	-,		-			
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
47	TOWER A 6TH FLOOR RCC WORK FOR SLAB					-	
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
48	TOWER A 6TH FLOOR RCC WORK FOR SLAB			-			
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
49	TOWER A 6TH FLOOR MASONRY WORK	-,		-			
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
50	TOWER A 6TH FLOOR PLASTER WORK		-				
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
51	TOWER A 6TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
52	TOWER A 6TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
53	TOWER A 7TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	19.25	167671.16	18	%
54	TOWER A 7TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
55	TOWER A 7TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
56	TOWER A 7TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
57	TOWER A 7TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
58	TOWER A 7TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
59	TOWER A 7TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
60	TOWER A 8TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
61	TOWER A 8TH FLOOR RCC WORK FOR SLAB		_				
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
62	TOWER A 8TH FLOOR MASONRY WORK		_				
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%

	have preusure in pracing with you out work order for t	the rottowing contra		y excede the work			
· ·	ber the instruction given by our site incharge.						
63		0 740 40	COFT	20.50	2 (02 (0 (2	40	0/
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
64	TOWER A 8TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
65	TOWER A 8TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
66	TOWER A 9TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
67	TOWER A 9TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
68	TOWER A 9TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
69	TOWER A 9TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
70	TOWER A 9TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
71	TOWER A 9TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
72	TOWER A 10TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
73	TOWER A 10TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
74	TOWER A 10TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
75	TOWER A 10TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
76	TOWER A 10TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
77	TOWER A 10TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
78	TOWER A 11TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
79	TOWER A 11TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
80	TOWER A 11TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
81	TOWER A 11TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
82	TOWER A 11TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
83	TOWER A 11TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
84	TOWER A 12TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
85	TOWER A 12TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
86	TOWER A 12TH FLOOR MASONRY WORK		-				
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
		-,	~ ·	-		-	

	have pleasure in placing with you out work order for	the following contra					
87	per the instruction given by our site incharge. TOWER A 12TH FLOOR PLASTER WORK						
07	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28,50	248240.42	18	%
88	TOWER A 12TH FLOOR PLASTER WORK	6,710.17	JULI	28.50	240240.42	10	/0
00		9 710 10	COFT	28.50	248240.42	10	٥/
89	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	240240.42	18	%
07		1.00	NOC	1/00 00	1(00.00	40	۵⁄
90		1.00	NOS	1600.00	1600.00	18	%
90		1.00	NOC	4000.00	1000.00	40	~
01		1.00	NOS	4000.00	4000.00	18	%
91	TOWER A 13TH FLOOR RCC WORK FOR SLAB	0 740 40	COFT	101 50	040044.04	4.0	~
02		8,710.19	SQFT	104.50	910214.86	18	%
92		0 740 40	COFT	22.50	2 (02 (0 (2	4.0	~
		8,710.19	SQFT	28.50	248240.42	18	%
93		0 740 40	COFT	22.50		4.0	~
- 0.1	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
94				<u></u>			
05	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
95	TOWER A 13TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
96	TOWER A 14TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
97	TOWER A 14TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
98	TOWER A 14TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
99	TOWER A 14TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
100	TOWER A 14TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
101	TOWER A 14TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
102	TOWER A 15TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
103	TOWER A 15TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
104	TOWER A 15TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
105	TOWER A 15TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
106	TOWER A 15TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
107	TOWER A 15TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
108	TOWER A 16TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
109	TOWER A 16TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
110	TOWER A 16TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%

	have pleasure in placing with you our work order for	the following contra		y execute the work			
-	per the instruction given by our site incharge.						
111	TOWER A 16TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
112	TOWER A 16TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
113	TOWER A 16TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
114	TOWER A 17TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
115	TOWER A 17TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
116	TOWER A 17TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
117	TOWER A 17TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
118	TOWER A 17TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
119	TOWER A 17TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
120	TOWER A 18TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
121	TOWER A 18TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
122	TOWER B BASEMENT RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	24,077.71	SQFT	133.00	3202335.70	18	%
123	TOWER B BASEMENT PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	24,077.71	SQFT	57.00	1372429.58	18	%
124	TOWER B GROUND FLOOR RCC WORK FOR						
	SLAB						
	LABOR FOR RCC SLAB (SQFT)	11,072.52	SQFT	104.50	1157078.34	18	%
125	TOWER B GROUND FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	552.26	SQFT	104.50	57711.17	18	%
126	TOWER B GROUND FLOOR RCC WORK FOR		-				
	SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
127	TOWER B GROUND FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	552.26	SQFT	28.50	15739.41	18	%
128	TOWER B GROUND FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	11,072.52	SQFT	28.50	315566.82	18	%
129	TOWER B GROUND FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	11,072.52	SQFT	28.50	315566.82	18	%
130	TOWER B GROUND FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	11,072.52	SQFT	28.50	315566.82	18	%
131	TOWER B GROUND FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
132	TOWER B GROUND FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	552.26	SQFT	28.50	15739.41	18	%
133	TOWER B GROUND FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	552.26	SQFT	28.50	15739.41	18	%

as p	per the instruction given by our site incharge.						
134	TOWER B 1ST FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	1,064.82	SQFT	104.50	111273.90	18	%
135	TOWER B 1ST FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
136	TOWER B 1ST FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
137	TOWER B 1ST FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
138	TOWER B 1ST FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	1,064.82	SQFT	28.50	30347.43	18	%
139	TOWER B 1ST FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	1,064.82	SQFT	28.50	30347.43	18	%
140	TOWER B 1ST FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	1,064.82	SQFT	28.50	30347.43	18	%
141	TOWER B 1ST FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
142	TOWER B 1ST FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28,50	248240.42	18	%
143	TOWER B 1ST FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28,50	248240.42	18	%
144	TOWER B 2ND FLOOR RCC WORK FOR SLAB						70
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
145	TOWER B 2ND FLOOR RCC WORK FOR SLAB				,		70
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
146	TOWER B 2ND FLOOR MASONRY WORK						70
110	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28,50	248240.42	18	%
147	TOWER B 2ND FLOOR PLASTER WORK	0,710.17			2 102 10: 12		70
,	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28,50	248240.42	18	%
148	TOWER B 2ND FLOOR PLASTER WORK	0,710.17		20.30	240240.42		70
140	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
149		6,710.19	JULI			10	/0
147		1.00	NOS	1600.00	1600.00	10	0/
150	LABOR FOR ZARI WORK (NOS) TOWER B 3RD FLOOR RCC WORK FOR SLAB	1.00	1103	1000.00	1000.00	18	%
10		1.00	NOC	4000.00	4000.00	10	0/
151		1.00	NOS	4000.00	4000.00	18	%
131		8 710 10	COLT	104 50	040244.84	40	0/
152		8,710.19	SQFT	104.50	910214.86	18	%
152		0 710 10	COFT	20.50	2 492 49 42	40	0/
452		8,710.19	SQFT	28.50	248240.42	18	%
153							<b>0</b> (
45.4		8,710.19	SQFT	28.50	248240.42	18	%
154							
455	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
155	TOWER B 3RD FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
156	TOWER B 4TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
157	TOWER B 4TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19		104.50			%

as p	per the instruction given by our site incharge.						
158	TOWER B 4TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
159	TOWER B 4TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
160	TOWER B 4TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
161	TOWER B 4TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
162	TOWER B 5TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
163	TOWER B 5TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
164	TOWER B 5TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
165	TOWER B 5TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
166	TOWER B 5TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
167	TOWER B 5TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
168	TOWER B 6TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
169	TOWER B 6TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
170	TOWER B 6TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
171	TOWER B 6TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
172	TOWER B 6TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
173	TOWER B 6TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
174	TOWER B 7TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
175	TOWER B 7TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
176	TOWER B 7TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
177	TOWER B 7TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
178	TOWER B 7TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
179	TOWER B 7TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
180	TOWER B 8TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
181	TOWER B 8TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
							- 1

	have preasure in pracing with you out work order for	the rottowing control		y excede the work			
	ber the instruction given by our site incharge.						
182		0 710 10	COFT	22.50	2 (02 (0 (2	4.0	~
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
183	TOWER B 8TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
184	TOWER B 8TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
185	TOWER B 8TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
186	TOWER B 9TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
187	TOWER B 9TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
188	TOWER B 9TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
189	TOWER B 9TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
190	TOWER B 9TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
191	TOWER B 9TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
192	TOWER B 10TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
193	TOWER B 10TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
194	TOWER B 10TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
195	TOWER B 10TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
196	TOWER B 10TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
197	TOWER B 10TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
198	TOWER B 11TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
199	TOWER B 11TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
200	TOWER B 11TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
201	TOWER B 11TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
202	TOWER B 11TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	8,710.19	SQFT	28.50	248240.42	18	%
203	TOWER B 11TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
204	TOWER B 12TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	4000.00	4000.00	18	%
205	TOWER B 12TH FLOOR RCC WORK FOR SLAB				-		
	LABOR FOR RCC SLAB (SQFT)	8,710.19	SQFT	104.50	910214.86	18	%
		-,,					

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge. 206 TOWER B 12TH FLOOR MASONRY WORK LABOR FOR MASONRY WORK (SQFT) 28.50 248240.42 18 % 8,710,19 SQFT 207 TOWER B 12TH FLOOR PLASTER WORK LABOR FOR EXTERNAL PLASTER (SQFT) 8,710.19 SQFT 28.50 248240.42 18 % 208 TOWER B 12TH FLOOR PLASTER WORK LABOR FOR INTERNAL PLASTER (SQFT) 8,710.19 SQFT 28.50 248240.42 18 % 209 **TOWER B 12TH FLOOR PLASTER WORK** LABOR FOR ZARI WORK (NOS) 1.00 NOS 1600.00 1600.00 18 % TOWER B 13TH FLOOR RCC WORK FOR SLAB 210 LABOR FOR SLEEVE INSERT 1.00 NOS 4000.00 4000.00 18 % 211 TOWER B 13TH FLOOR RCC WORK FOR SLAB LABOR FOR RCC SLAB (SQFT) SOFT 104.50 910214.86 18 % 8,710,19 212 TOWER B 13TH FLOOR MASONRY WORK LABOR FOR MASONRY WORK (SQFT) 8,710,19 SOFT 28.50 248240.42 18 % 213 TOWER B 13TH FLOOR PLASTER WORK LABOR FOR INTERNAL PLASTER (SQFT) 8,710.19 SQFT 28.50 248240.42 18 % 214 TOWER B 13TH FLOOR PLASTER WORK LABOR FOR EXTERNAL PLASTER (SQFT) 8,710.19 SQFT 28.50 248240.42 % 18 215 TOWER B 13TH FLOOR PLASTER WORK LABOR FOR ZARI WORK (NOS) 1.00 NOS 1600.00 1600.00 18 % 216 TOWER B 14TH FLOOR RCC WORK FOR SLAB LABOR FOR SLEEVE INSERT 1.00 NOS 4000.00 4000.00 18 % 217 TOWER B 14TH FLOOR RCC WORK FOR SLAB LABOR FOR RCC SLAB (SQFT) 8,710.19 SOFT 104.50 910214.86 18 % 218 TOWER B 14TH FLOOR MASONRY WORK LABOR FOR MASONRY WORK (SQFT) 8,710.19 SQFT 28.50 248240.42 18 % 219 TOWER B 14TH FLOOR PLASTER WORK LABOR FOR EXTERNAL PLASTER (SQFT) 8,710.19 SQFT 28.50 248240.42 18 % 220 TOWER B 14TH FLOOR PLASTER WORK LABOR FOR INTERNAL PLASTER (SQFT) 8,710.19 SQFT 28.50 248240.42 18 % 221 **TOWER B 14TH FLOOR PLASTER WORK** LABOR FOR ZARI WORK (NOS) 1.00 NOS 1600.00 1600.00 18 % 222 TOWER B 15TH FLOOR RCC WORK FOR SLAB LABOR FOR SLEEVE INSERT 1.00 NOS 4000.00 4000.00 18 % 223 TOWER B 15TH FLOOR RCC WORK FOR SLAB LABOR FOR RCC SLAB (SQFT) 8,710.19 SQFT 104.50 910214.86 18 % 224 TOWER B 15TH FLOOR MASONRY WORK LABOR FOR MASONRY WORK (SQFT) 8,710.19 SQFT 28.50 248240.42 18 % 225 TOWER B 15TH FLOOR PLASTER WORK LABOR FOR INTERNAL PLASTER (SQFT) SQFT 28.50 248240.42 % 8,710.19 18 226 TOWER B 15TH FLOOR PLASTER WORK LABOR FOR EXTERNAL PLASTER (SQFT) 8,710.19 SQFT 28.50 248240.42 18 % 227 TOWER B 15TH FLOOR PLASTER WORK LABOR FOR ZARI WORK (NOS) 1.00 NOS 1600.00 1600.00 18 % 228 TOWER B 16TH FLOOR RCC WORK FOR SLAB LABOR FOR SLEEVE INSERT NOS 4000.00 4000.00 18 % 1.00 229 TOWER B 16TH FLOOR RCC WORK FOR SLAB LABOR FOR RCC SLAB (SQFT) 8,710.19 SQFT 104.50 910214.86 18 %

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge. 230 TOWER B 16TH FLOOR MASONRY WORK LABOR FOR MASONRY WORK (SQFT) SQFT 28.50 248240.42 18 % 8,710,19 231 TOWER B 16TH FLOOR PLASTER WORK LABOR FOR EXTERNAL PLASTER (SQFT) 8,710.19 SQFT 28.50 248240.42 18 % 232 TOWER B 16TH FLOOR PLASTER WORK LABOR FOR INTERNAL PLASTER (SQFT) 8,710.19 SQFT 28.50 248240.42 18 % 233 TOWER B 16TH FLOOR PLASTER WORK LABOR FOR ZARI WORK (NOS) 1.00 NOS 1600.00 1600.00 18 % TOWER B 17TH FLOOR RCC WORK FOR SLAB 234 LABOR FOR SLEEVE INSERT 1.00 NOS 4000.00 4000.00 18 % 235 TOWER B 17TH FLOOR RCC WORK FOR SLAB LABOR FOR RCC SLAB (SQFT) SQFT 104.50 910214.86 18 % 8,710,19 236 TOWER B 17TH FLOOR MASONRY WORK LABOR FOR MASONRY WORK (SQFT) 8,710.19 SQFT 28.50 248240.42 18 % TOWER B 17TH FLOOR PLASTER WORK 237 LABOR FOR INTERNAL PLASTER (SQFT) 8,710.19 SQFT 28.50 248240.42 18 % 238 **TOWER B 17TH FLOOR PLASTER WORK** LABOR FOR EXTERNAL PLASTER (SQFT) 8,710.19 SQFT 28.50 248240.42 18 % 239 TOWER B 17TH FLOOR PLASTER WORK LABOR FOR ZARI WORK (NOS) 1.00 NOS 1600.00 1600.00 18 % 240 TOWER B 18TH FLOOR RCC WORK FOR SLAB LABOR FOR SLEEVE INSERT 1.00 NOS 4000.00 4000.00 18 % 241 TOWER B 18TH FLOOR PLASTER WORK LABOR FOR ZARI WORK (NOS) 1.00 NOS 1600.00 1600.00 18 % 242 TOWER C BASEMENT RCC WORK FOR SLAB LABOUR FOR DOUBLE HEIGHT SHUTTERING 55.00 1085784.95 19,741.54 SQFT 18 % WORK (SQFT) Spc. LABOUR CHARGES FOR DOUBLE HEIGHT SHUTTERING WORK TOWER C BASEMENT RCC WORK FOR SLAB 243 LABOR FOR RCC SLAB (SQFT) 19,741.54 SQFT 133.00 2625625.42 18 % 244 TOWER C BASEMENT PLASTER WORK LABOR FOR INTERNAL PLASTER (SQFT) 19,741.54 SQFT 57.00 1125268.04 18 % 245 TOWER C GROUND FLOOR RCC WORK FOR SLAB LABOR FOR RCC SLAB (SQFT) 5,719.38 SQFT 104.50 597675.00 18 % 246 TOWER C GROUND FLOOR RCC WORK FOR SLAB LABOR FOR RCC SLAB (SQFT) 52.40 SQFT 104.50 5476.01 18 % TOWER C GROUND FLOOR RCC WORK FOR 247 SLAB LABOR FOR SLEEVE INSERT 1.00 NOS 2000.00 2000.00 18 % 248 TOWER C GROUND FLOOR MASONRY WORK LABOR FOR MASONRY WORK (SQFT) 52.40 SQFT 28.50 1493.46 18 % 249 TOWER C GROUND FLOOR MASONRY WORK 5,719.38 163002.27 LABOR FOR MASONRY WORK (SQFT) SQFT 28.50 18 % 250 TOWER C GROUND FLOOR PLASTER WORK

52.40

SQFT

28.50

LABOR FOR INTERNAL PLASTER (SQFT)

18

%

1493.46

	have pleasure in placing with you our Work order for t	the following contr	act kindly	execute the work			
as p 251	er the instruction given by our site incharge.						
201		52.40	COFT	20 50	1402.44	40	0
252	LABOR FOR EXTERNAL PLASTER (SQFT) TOWER C GROUND FLOOR PLASTER WORK	52.40	SQFT	28.50	1493.46	18	%
232		1.00	NOC	1400.00	1(00.00	40	0
253	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	9
203	TOWER C GROUND FLOOR PLASTER WORK	5 740 20	COFT	<b>22 5</b> 0	442002.27	4.0	
25.4	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	9
254							
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	9
255	TOWER C 1ST FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	9
256	TOWER C 1ST FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	52.40	SQFT	104.50	5476.01	18	9
257	TOWER C 1ST FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	116.65	SQFT	104.50	12189.93	18	%
Spc.	DIFFERENCE QTY TAKEN DUE TO FLOWER BED NOTCH AREA ADDED.						
258	TOWER C 1ST FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	9
259	TOWER C 1ST FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	116.65	SQFT	28.50	3324.53	18	9
Spc.	DIFFERENCE QTY TAKEN DUE TO FLOWER BED NOTCH AREA ADDED.						
260	TOWER C 1ST FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	52.40	SQFT	28.50	1493.46	18	9
261	TOWER C 1ST FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	9
262	TOWER C 1ST FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	ç
263	TOWER C 1ST FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	9
264	TOWER C 1ST FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	52.40	SQFT	28.50	1493.46	18	9
265	TOWER C 1ST FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	52.40	SQFT	28.50	1493.46	18	9
266	TOWER C 1ST FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	116.65	SQFT	28.50	3324.53	18	ç
Spc.	DIFFERENCE QTY TAKEN DUE TO FLOWER BED NOTCH AREA ADDED.						
267	TOWER C 1ST FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	116.65	SQFT	28.50	3324.53	18	9
Spc.	DIFFERENCE QTY TAKEN DUE TO FLOWER BED		-	-		-	,
Spc.	NOTCH AREA ADDED.						
268	NOTCH AREA ADDED.						

as p	per the instruction given by our site incharge.						
269	TOWER C 2ND FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	52.40	SQFT	104.50	5476.01	18	%
270	TOWER C 2ND FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
271	TOWER C 2ND FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
272	TOWER C 2ND FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
273	TOWER C 2ND FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	52.40	SQFT	28.50	1493.46	18	%
274	TOWER C 2ND FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	52.40	SQFT	28.50	1493.46	18	%
275	TOWER C 2ND FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	52.40	SQFT	28.50	1493.46	18	%
276	TOWER C 2ND FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
277	TOWER C 2ND FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
278	TOWER C 2ND FLOOR PLASTER WORK	,	-				
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28,50	163002.27	18	%
279	TOWER C 3RD FLOOR RCC WORK FOR SLAB	-,		-			
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
280	TOWER C 3RD FLOOR RCC WORK FOR SLAB	-,		-			
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
281	TOWER C 3RD FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
282	TOWER C 3RD FLOOR PLASTER WORK	-,	- <b>-</b>				70
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
283	TOWER C 3RD FLOOR PLASTER WORK	5,717.50		20.00	100002127		70
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28,50	163002.27	18	%
284	TOWER C 3RD FLOOR PLASTER WORK	0,717100					70
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
285	TOWER C 4TH FLOOR RCC WORK FOR SLAB	1.00		1000,00	1000.00		70
205	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
286	TOWER C 4TH FLOOR RCC WORK FOR SLAB	1.00	1105	2000.00	2000.00	10	70
200	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
287	TOWER C 4TH FLOOR MASONRY WORK	5,717.50	JULI	104.50	597075.00	10	/0
207	LABOR FOR MASONRY WORK (SQFT)	5 710 29	COFT	28.50	163002.27	10	0/
288		5,719.38	SQFT	28.50	103002.27	18	%
200		E 710 29	COFT	28 50	162002 27	10	0/
280	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	JUL I	28.50	163002.27	18	%
289		F 740 20	COLT	30 FA	463003 37	40	0/
200	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
290		4.00	NOC	4400.00	4/00.00	40	01
204		1.00	NOS	1600.00	1600.00	18	%
291			Nor		2002 25		
202		1.00	NOS	2000.00	2000.00	18	%
292							
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%

inc	have pleasure in placing with you our work order for a	ie rottowing contr		vexecute the work			
•	ber the instruction given by our site incharge.						
293		5 540 00					~
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
294	TOWER C 5TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
295	TOWER C 5TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
296	TOWER C 5TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
297	TOWER C 6TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
298	TOWER C 6TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
299	TOWER C 6TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
300	TOWER C 6TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
301	TOWER C 6TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
302	TOWER C 6TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
303	TOWER C 7TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
304	TOWER C 7TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
305	TOWER C 7TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
306	TOWER C 7TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
307	TOWER C 7TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
308	TOWER C 7TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
309	TOWER C 8TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
310	TOWER C 8TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
311	TOWER C 8TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
312	TOWER C 8TH FLOOR PLASTER WORK	5,7 77.50					,0
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
313	TOWER C 8TH FLOOR PLASTER WORK	3,717.30	~~ <b>.</b> .'	20,00			,0
	LABOR FOR INTERNAL PLASTER (SOFT)	5,719.38	SQFT	28.50	163002.27	18	%
314	TOWER C 8TH FLOOR PLASTER (SQFT)	5,717.50	ي الي ح	20.00	105002.27	10	70
517	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
315	TOWER C 9TH FLOOR RCC WORK FOR SLAB	1.00	1103	1000,00	1000.00	10	/0
JIJ		1 00	NOS	2000.00	2000.00	40	0/
214		1.00	NOS	2000.00	2000.00	18	%
316		E 740 00	COFT	104 50		40	
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%

	have pleasure in placing with you our work order for t	ne rottowing contra		y execute the work			
-	ber the instruction given by our site incharge.						
317		5 740 20	COFT	<b>22 5 2</b>	4 ( ) 0 0 0 0 7	4.0	0(
240	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
318	TOWER C 9TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
319	TOWER C 9TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
320	TOWER C 9TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
321	TOWER C 10TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
322	TOWER C 10TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
323	TOWER C 10TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
324	TOWER C 10TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
325	TOWER C 10TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
326	TOWER C 10TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
327	TOWER C 11TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
328	TOWER C 11TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
329	TOWER C 11TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
330	TOWER C 11TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
331	TOWER C 11TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
332	TOWER C 11TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
333	TOWER C 12TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
334	TOWER C 12TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
335	TOWER C 12TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
336	TOWER C 12TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
337	TOWER C 12TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
338	TOWER C 12TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
339	TOWER C 13TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
340	TOWER C 13TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
		,	-				-

110	have pleasure in placing with you our work order for t	the following contri		y execute the work			
as p	per the instruction given by our site incharge.						
341	TOWER C 13TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
342	TOWER C 13TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
343	TOWER C 13TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
344	TOWER C 13TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
345	TOWER C 14TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
346	TOWER C 14TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
347	TOWER C 14TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
348	TOWER C 14TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
349	TOWER C 14TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
350	TOWER C 14TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
351	TOWER C 15TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
352	TOWER C 15TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
353	TOWER C 15TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
354	TOWER C 15TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
355	TOWER C 15TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
356	TOWER C 15TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
357	TOWER C 16TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
358	TOWER C 16TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
359	TOWER C 16TH FLOOR MASONRY WORK		-				
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28,50	163002.27	18	%
360	TOWER C 16TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28,50	163002.27	18	%
361	TOWER C 16TH FLOOR PLASTER WORK	-,	· • ·				
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28,50	163002.27	18	%
362	TOWER C 16TH FLOOR PLASTER WORK	5,717.50		20,00			70
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
363	TOWER C 17TH FLOOR RCC WORK FOR SLAB	1.00			1000.00	.0	/0
505	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
364	TOWER C 17TH FLOOR RCC WORK FOR SLAB	1.00	105	2000.00	2000.00	10	/0
50-1		5,719.38	SQFT	104.50	597675.00	19	0/
	LABOR FOR RCC SLAB (SQFT)	5,719.38	JULLI	104,50	J7/0/0.00	18	%
_							_

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge. 365 TOWER C 17TH FLOOR MASONRY WORK LABOR FOR MASONRY WORK (SQFT) 5,719.38 SQFT 28.50 163002.27 18 % 366 **TOWER C 17TH FLOOR PLASTER WORK** LABOR FOR EXTERNAL PLASTER (SQFT) 5,719.38 SQFT 28.50 163002.27 18 % 367 TOWER C 17TH FLOOR PLASTER WORK LABOR FOR INTERNAL PLASTER (SQFT) 5,719.38 SQFT 28.50 163002.27 18 % 368 **TOWER C 17TH FLOOR PLASTER WORK** LABOR FOR ZARI WORK (NOS) 1.00 NOS 1600.00 1600.00 18 % TOWER C 18TH FLOOR RCC WORK FOR SLAB 369 LABOR FOR SLEEVE INSERT 1.00 NOS 2000.00 2000.00 18 % 370 **TOWER C 18TH FLOOR PLASTER WORK** LABOR FOR ZARI WORK (NOS) 1.00 NOS 1600.00 1600.00 18 % 371 TOWER D BASEMENT RCC WORK FOR SLAB LABOUR FOR DOUBLE HEIGHT SHUTTERING 55.00 882861.05 18 % 16.052.02 SOFT WORK (SQFT) Spc. LABOUR CHARGES FOR DOUBLE HEIGHT SHUTTERING WORK 372 TOWER D BASEMENT RCC WORK FOR SLAB LABOR FOR RCC SLAB (SQFT) 16,052.02 SQFT 133.00 2134918.53 18 % 373 TOWER D BASEMENT PLASTER WORK LABOR FOR INTERNAL PLASTER (SQFT) 57.00 914965.08 16,052.02 SQFT 18 % 374 TOWER D GROUND FLOOR RCC WORK FOR SLAB LABOR FOR RCC SLAB (SQFT) 5,719.38 SQFT 104.50 597675.00 18 % TOWER D GROUND FLOOR RCC WORK FOR 375 SLAB NOS LABOR FOR SLEEVE INSERT 1.00 2000.00 2000.00 18 % 376 TOWER D GROUND FLOOR RCC WORK FOR SLAB SQFT 5476.01 LABOR FOR RCC SLAB (SQFT) 52.40 104.50 18 % 377 TOWER D GROUND FLOOR MASONRY WORK LABOR FOR MASONRY WORK (SQFT) SQFT 28.50 1493.46 18 % 52.40 378 TOWER D GROUND FLOOR MASONRY WORK LABOR FOR MASONRY WORK (SQFT) SQFT 28.50 163002.27 5,719.38 18 % 379 TOWER D GROUND FLOOR PLASTER WORK LABOR FOR INTERNAL PLASTER (SQFT) 5,719.38 SQFT 28.50 163002.27 18 % 380 TOWER D GROUND FLOOR PLASTER WORK LABOR FOR EXTERNAL PLASTER (SQFT) 5,719.38 SQFT 28.50 163002.27 18 % 381 TOWER D GROUND FLOOR PLASTER WORK LABOR FOR INTERNAL PLASTER (SQFT) 1493.46 52.40 SQFT 28.50 18 % 382 TOWER D GROUND FLOOR PLASTER WORK LABOR FOR EXTERNAL PLASTER (SQFT) 52.40 SQFT 28.50 1493.46 18 % TOWER D GROUND FLOOR PLASTER WORK 383 1.00 LABOR FOR ZARI WORK (NOS) NOS 1600.00 1600.00 18 % 384 TOWER D 1ST FLOOR RCC WORK FOR SLAB 5476.01 LABOR FOR RCC SLAB (SQFT) 52.40 SQFT 104.50 18 %

	have pleasure in placing with you our Work order for t er the instruction given by our site incharge.	5	- <b>.</b>				
385	TOWER D 1ST FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	116.65	SQFT	104.50	12189.93	18	Ģ
Spc.	DIFFERENCE QTY TAKEN DUE TO FLOWER BED NOTCH AREA ADDED.						
386	TOWER D 1ST FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	
387	TOWER D 1ST FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	
388	TOWER D 1ST FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	
389	TOWER D 1ST FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	116.65	SQFT	28.50	3324.53	18	
Spc.	DIFFERENCE QTY TAKEN DUE TO FLOWER BED NOTCH AREA ADDED.						
390	TOWER D 1ST FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	52.40	SQFT	28.50	1493.46	18	
391	TOWER D 1ST FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	52.40	SQFT	28.50	1493.46	18	
392	TOWER D 1ST FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	52.40	SQFT	28.50	1493.46	18	
393	TOWER D 1ST FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	116.65	SQFT	28.50	3324.53	18	
Spc.	DIFFERENCE QTY TAKEN DUE TO FLOWER BED NOTCH AREA ADDED.						
394	TOWER D 1ST FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	116.65	SQFT	28.50	3324.53	18	
Spc.	DIFFERENCE QTY TAKEN DUE TO FLOWER BED NOTCH AREA ADDED.						
395	TOWER D 1ST FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	
396	TOWER D 1ST FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	
397	TOWER D 1ST FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	
398	TOWER D 2ND FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	
399	TOWER D 2ND FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	52.40	SQFT	104.50	5476.01	18	_
400	TOWER D 2ND FLOOR RCC WORK FOR SLAB						_
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	
401	TOWER D 2ND FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	52.40	SQFT	28.50	1493.46	18	
402	TOWER D 2ND FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	
	· · ·						

	have pleasure in placing with you our work order for t	the following contra	act kinuty	y execute the work			
	per the instruction given by our site incharge.						
403	TOWER D 2ND FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
404	TOWER D 2ND FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
405	TOWER D 2ND FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	52.40	SQFT	28.50	1493.46	18	%
406	TOWER D 2ND FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	52.40	SQFT	28.50	1493.46	18	%
407	TOWER D 2ND FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
408	TOWER D 3RD FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
409	TOWER D 3RD FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
410	TOWER D 3RD FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
411	TOWER D 3RD FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
412	TOWER D 3RD FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
413	TOWER D 3RD FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
414	TOWER D 4TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
415	TOWER D 4TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
416	TOWER D 4TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
417	TOWER D 4TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
418	TOWER D 4TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
419	TOWER D 4TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
420	TOWER D 5TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
421	TOWER D 5TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
422	TOWER D 5TH FLOOR MASONRY WORK	,	-				-
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
423	TOWER D 5TH FLOOR PLASTER WORK	-,	~ ~ ·				
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
424	TOWER D 5TH FLOOR PLASTER WORK		~ `				
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
425	TOWER D 5TH FLOOR PLASTER WORK	5,7 17.50		0			,0
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
426	TOWER D 6TH FLOOR RCC WORK FOR SLAB	1.00			1000.00	.0	70
.20	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
		1.00				10	/0
							_

	have pleasure in placing with you our work order for	the following contra	act kindly	y execute the work			
-	per the instruction given by our site incharge.						
427	TOWER D 6TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
428	TOWER D 6TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
429	TOWER D 6TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
430	TOWER D 6TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
431	TOWER D 6TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
432	TOWER D 7TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
433	TOWER D 7TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
434	TOWER D 7TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
435	TOWER D 7TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
436	TOWER D 7TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
437	TOWER D 7TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
438	TOWER D 8TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
439	TOWER D 8TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
440	TOWER D 8TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
441	TOWER D 8TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
442	TOWER D 8TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
443	TOWER D 8TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
444	TOWER D 9TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
445	TOWER D 9TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
446	TOWER D 9TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
447	TOWER D 9TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
448	TOWER D 9TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
449	TOWER D 9TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
450	TOWER D 10TH FLOOR RCC WORK FOR SLAB					-	
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%

	have pleasure in placing with you our work order for th	ne rollowing contra	act Kinuty	y execute the work			
•	ber the instruction given by our site incharge.						
451	TOWER D 10TH FLOOR RCC WORK FOR SLAB	5 740 20	COFT			4.0	0(
452		5,719.38	SQFT	104.50	597675.00	18	%
452		5 540 00					
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
453	TOWER D 10TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
454	TOWER D 10TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
455	TOWER D 10TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
456	TOWER D 11TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
457	TOWER D 11TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
458	TOWER D 11TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
459	TOWER D 11TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
460	TOWER D 11TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
461	TOWER D 11TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
462	TOWER D 12TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
463	TOWER D 12TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104,50	597675.00	18	%
464	TOWER D 12TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
465	TOWER D 12TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
466	TOWER D 12TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
467	TOWER D 12TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
468	TOWER D 13TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
469	TOWER D 13TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
470	TOWER D 13TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
471	TOWER D 13TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
472	TOWER D 13TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
473	TOWER D 13TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
		1.00					
474	TOWER D 14TH FLOOR RCC WORK FOR SLAB	1.00					

	have pleasure in placing with you our work order for t	ne rottowing contra	act kinuty	Pexecute the work			
•	ber the instruction given by our site incharge.						
475		5 740 20	60FT	101 50		4.0	0/
474		5,719.38	SQFT	104.50	597675.00	18	%
476		5 540 00					
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
477	TOWER D 14TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
478	TOWER D 14TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
479	TOWER D 14TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
480	TOWER D 15TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
481	TOWER D 15TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
482	TOWER D 15TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
483	TOWER D 15TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
484	TOWER D 15TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
485	TOWER D 15TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
486	TOWER D 16TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
487	TOWER D 16TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
488	TOWER D 16TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
489	TOWER D 16TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
490	TOWER D 16TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
491	TOWER D 16TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
492	TOWER D 17TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR SLEEVE INSERT	1.00	NOS	2000.00	2000.00	18	%
493	TOWER D 17TH FLOOR RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	5,719.38	SQFT	104.50	597675.00	18	%
494	TOWER D 17TH FLOOR MASONRY WORK						
	LABOR FOR MASONRY WORK (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
495	TOWER D 17TH FLOOR PLASTER WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
496	TOWER D 17TH FLOOR PLASTER WORK						
	LABOR FOR EXTERNAL PLASTER (SQFT)	5,719.38	SQFT	28.50	163002.27	18	%
497	TOWER D 17TH FLOOR PLASTER WORK						
	LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
498	TOWER D 18TH FLOOR RCC WORK FOR SLAB						

## 499 TOWER D 18TH FLOOR PLASTER WORK

LABOR FOR ZARI WORK (NOS)	1.00	NOS	1600.00	1600.00	18	%
			Contract Amount (A)		1202102	60.94
			Total GST (B)		2163784	6.68
			Total (A + B )		14184810	7.62

Terms & Conditions

## SAFETY TERMS

1) Work Compensation (WC) Policy is a must for every contractor.

2) Required all their laborers Aadhar card copy and Passport size Photo.

3) All PPES in Contractor Scope.

4) TPI (Third Party Inspection) Certificate must for their Machineries which they install on our site.

5) Every Quarterly they must submit a service report of their respective machines to the site incharge.

6) Contractor has to maintain enough lighting during night work at site.

7) Debit Note Policy will be applicable if the contractor failed to maintain the safety norms

\* All responsibilities of goods during transportation and unloding at site by supplier and vendors.

\* Please submit your Bill/invoice along with delivery challan and PO copy in favour of Neptune Realty Pvt. Ltd. At project site officialy.

\* Biling amount should not exceed the rate and total value mentioned in this WO.

\* Failure to comply with specification, terms and conditions of this order or accepted delivery.

schedule shall be sufficient grounds for cancellation of order by purchase with out being liable.

For NEPTUNE INFRASPACE PVT. LTD.

Authorized Signatory